o
[N

) F
@ n
~0.15F
S o
o 0.1
\% -

...............................

...............................

-0.15F
o—0.2—
0.5F

arE

...........................

=
o2
iN

2 3
TPlpoT (PCA t%obeamlinélf)

~ F
(<=3 F
6'0.15_—
o F
o C
vy 0.1=

................................

................................

=
o
N

1

M_TT

M_TT__originalREDO

original_option0

M_TT__original_optionl
M_TT_original_option2

T

B5e
JiN

1

1

= 5
N
A4
Q_.-
g2 3
o
o 2F--
v 3
1
0

...........................

|
=
R R R LR LR RR RN LR RN R AR R RRRRN RARRE RARRE AR

Tl N

L] B
. B
ul ] |

RERE NS J R A

[y
o2
I8

1

I : 2 3
TPl[:g)T (PCA t%)obeamlin%)o

ETFRHT :
= 80 IR R RARRRLERLEE
A L . .
< 60F SRR SR [ARRRARLRLEL A ELRRRELRLRE
2o} r N N
v 401 R ERRREE TIEPELTRPS
20F - RS LIt
O FHH O AR
—20;— , ----- e
-40F At R SCIERLTIN
-60F FFAH- LR SRERLIIRS
_80:— -—n---% ------------------------------
0_100: L e I |||||!
B L2 : i
o r 411 : B
U= T -» 1, ------------------------
0.8F +H4- L R

[any
o
iR

1

2 3
TPl[g)T (PCA f%)obeamlinép



	Contents
	Page 1


